VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

SPREADER USER MANUAL

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Model: GTO1

(:[%:\ Scan the code to watch the
installation video.

XXX 0009, > KM
K SO ,:.;3

£ XX
XXX
XX AKX RIS
ot

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



NOTICE : Please retain instructions for future needs.

SPECIFICATIONS
Model GTO1
Product Size(Folded state) 670X410X1250mm
Color Green
Components
Part Description Quantity
1 Hex Bolts 8*40mm 1 set (screw bolt 1pc+lock nut 1pc)
2 Hex Bolts 8*45mm 1 set (screw bolt1pc+lock nut 1pc)
3 Hex Bolts 8*35mm 2 sets (screw bolt 1pc+lock nut 1pc)
4 Hex Bolts 10*30mm | 2 sets (screw bolt 1pc+lock nut 2pct+washer 2pcs)
5 L-Tube 2
6 T-tube 1
7 Flat iron 2
8 Connecting pipe 1
9 T-shaped handle 1
10 A net 1
11 Disc 2
12 B net 1
13 C net 2
14 Hex Bolts 6*15mm 12
15 Hex Bolts 4*10mm 12
16 Hex Bolts 8*45mm 1
17 Hook 2
18 Buckle 2







Assembly Instructions:

SETUP 1.

Find the corresponding accessories according to the serial number.
SETUP 2. SETUP 3.

Install the part 9 with part 8. Install the part 6 with part 5 and part 7.

@x1 D =0 ®Ox & =0
SETUP 4. SETUPS.
Install the part 8. Install part 10 and part 13 with part 11.

@x12 «®




SETUP 6. Install the part 17 and part 18 and part 12.

R,
m,o,o.o,u‘.t‘:\t:‘\:“\‘\
W

(SN
o‘o’o’o':‘:\s\s:\sf
SO
X
N

AR
XN
RN
|
XS
b Y“"‘"':‘::“:‘x:‘\‘:‘:s
]
AR
Oy
BOKX

SR,
o
Aoy
IR
REROKKXY
KRR
B
R
N,
N

X
\ﬁ.‘ SO
XX R

LA
&

\

3

SETUP 7.

Install the part 5 to complete the installation .

@ x2 BosH=—0




Manufacturer:Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Tecnico Supporto e certificato di garanzia elettronica www.vevor.com/support

SPARGITORE MANUALE D'USO

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Modello: GT01

(:[%:\ Scansiona il codice per guardare
il video di installazione.

S5 X KKK IRI RIS TS
e sto oot toitensnrsnrchrstlol ot
XX KRR e K

2 .333.30.%:@.:.:.:.’.’&‘.’.0&0.0.w.ss*.v:a:&:.:..%}:»:o.».o.o.

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



AWVISO : conservare le istruzioni per esigenze future.

SPECIFICHE
Modello GTO1
Dimensioni del prodotto ( stato 670X410X1250mm
piegato )
Colore Verde
Componenti
Parte Descrizione Quantita
1 Bulloni esagonali 8*40 | 1 set (bullone a vite 1 pezzo + dado di bloccaggio 1
mm pezzo)
2 Bulloni esagonali 8*45 | 1 set (bullone a vite 1 pz+dado di bloccaggio 1 pz)
mm
3 Bulloni esagonali 2 set (bullone a vite 1 pezzo + dado di bloccaggio 1
8*35mm pezzo)
4 Bulloni esagonali 2 set (bullone a vite 1 pz+dado di bloccaggio 2
10*30 mm pz+rondella 2 pz)
5 M-Tubo 2
6 TuboaT 1
7 Ferro da stiro 2
8 Tubo di collegamento 1
9 Maniglia a forma di T 1
10 Una rete 1
11 Disco 2
12 Rete B 1
13 C netto 2
14 Bulloni esagonali 615 12
mm
15 Bulloni esagonali 4*10 12
mm




16

Bulloni esagonali 8 *

45 mm
17 Gancio
18 Fibbia







Istruzioni di montaggio:

IMPOSTAZIONE 1.

Trovare gli accessori corrispondenti in base al numero di serie.

IMPOSTAZIONE2.
Installare la parte 9 con la

parte 8.

IMPOSTAZIONE 3.

Installare la parte 6 con la parte 5 e la parte 7.

@xl 9 =o

IMPOSTAZIONE 4.

Installare la parte 8.

IMPOSTAZIONES.
Installare la parte 10 e la parte 13 con la parte 11 .




13

&

@x12

CONFIGURAZIONE 6. Installare la parte 17, la parte 18 e la parte 12.

[RXERITER I &
RREARKSKRTOSS
AT SIS
SN
PRI (]
AR RS
%00, BOOKXAIXAIKA Y
ARARRUIN, KX EREY
IR XX
R RRKLRIN LRSS
IR
PRI KSR
AR N A
TSR B
SRR A
KRR

AN
RS
»’o‘o‘o:o::::t::\s\“xtx\\“
AN
SIS
o

J

J

IMPOSTAZIONE 7.

Installare la parte 5 per completare l'installazione.




@ x2 Bos=—0

Produttore : Shanghaimuxinmuyeyouxiangongsi

Indirizzo: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Importato in Australia: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australia

Importato negli Stati Uniti: Sanven Technology Ltd. Suite 250, 9166
Anaheim

Luogo, Rancho Cucamonga, CA 91730




EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Tecnico Supporto e certificato di garanzia elettronica
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Techniczny Certyfikat wsparcia i e-gwarancji www.vevor.com/support

ROZSZERZACZ INSTRUKCJA OBSLUGI

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Model: GTO1

(:[%:\ Zeskanuj kod, aby obejrze¢ film
instalacyjny.

XXX 0009, > KM
K SO ,:.;3

£ XX
XXX
XX AKX RIS
ot

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



UWAGA : Zachowaj instrukcje na przysziosé.

SPECYFIKACJE
Model GTO1
Rozmiar produktu ( stan ztozony ) | 670X410X 1250 mm
Kolor Zielony
skfadniki
Czesc Opis llosé
1 Sruby szesciokatne 1 zestaw (Sruba 1 szt. + nakretka zabezpieczajaca
8*40mm 1 szt.)
2 Sruby szesciokatne 1 zestaw (Sruba 1 szt. + nakretka zabezpieczajaca
8*45mm 1 szt.)
3 Sruby szesciokatne 2 zestawy (Sruba 1 szt. + nakretka zabezpieczajgca
8*35mm 1 szt.)
4 Sruby szesciokatne 2 zestawy (Sruba 1 szt. + nakretka zabezpieczajgca
10*30mm 2 szt. + podktadka 2 szt.)
5 N-Rura 2
6 Rurka T 1
7 Ptaskie zelazko 2
8 Rura taczgca 1
9 Uchwyt w ksztatcie 1
litery T
10 Sie¢ 1
11 Dysk 2
12 B netto 1
13 C netto 2
14 Sruby szesciokatne 12
6*15mm
15 Sruby szesciokatne 12
4*10mm




16

Sruby szesciokatne 8

*45 mm
17 Hak
18 Klamra







Instrukcje skiadania:

USTAWIENIA 1.
Znajdz odpowiednie akcesoria zgodnie z numerem seryjnym.
USTAWIENIA 2. USTAWIENIA 3.

Zamontuj cze$¢ 9 z czescig 8. | Zamontuj cze$¢ 6 z czescig 5 i czescig 7.

@x1 D =0 ®Ox & =0
USTAWIENIA 4. USTAWIENIAS.
Zainstaluj czesc¢ 8. Zamontuj czes¢ 10 i czes¢ 13 z czescig 11.

@x12 «®




USTAWIENIE 6. Zainstaluj czes¢ 17, czes¢ 18 i czes¢ 12.

TSR
osesatan
Sy

AR
SO
AR
By

8

AR
X
(AT
AN
A

S
.‘gpog%sﬁg&&

AR
peseRel
B0

XLy
XXX
IR0
ROANSA ¢
KRR
R
G
AN

KK
":" W
X Q]
X A
S
\\‘\“\
‘:

3

USTAWIENIA 7.
Zainstaluj czes¢ 5, aby zakonczy¢ instalacje.

@ x2 BosH=—0




Producent : Shanghaimuxinmuyeyouxiangongsi

Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
szanghaj 200000 CN.

Import do AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW
2122 Australia
Import do USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, Kalifornia 91730

EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Techniczny Certyfikat wsparcia i e-gwarancji
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technisch Support und E-Garantie-Zertifikat www.vevor.com/support

STREUER BENUTZERHANDBUCH

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Modell: GT01

E[%:\ Scannen Sie den Code, um das
Installationsvideo anzusehen.

S5 X KKK IRI RIS TS
e sto oot toitensnrsnrchrstlol ot
XX KRR e K

2 .333.30.%:@.:.:.:.’.’&‘.’.0&0.0.w.ss*.v:a:&:.:..%}:»:o.».o.o.

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



HINWEIS : Bitte bewahren Sie die Anleitung fiir spateren Gebrauch auf.

SPEZIFIKATIONEN
Modell GTO1
Produktgrofe ( gefalteter 670X410X1250mm
Zustand )
Farbe Grin
Komponenten
Teil Beschreibung Menge
1 Sechskantschrauben | 1 Satz (1 Stiick Schraubbolzen + 1 Stlick
8*40mm Sicherungsmutter)
2 Sechskantschrauben | 1 Satz (Schraubbolzen 1 Stk. + Kontermutter 1 Stk.)
8*45mm
3 Sechskantschrauben | 2 Satze (1 Stlick Schraubbolzen + 1 Stiick
8*35mm Sicherungsmutter)
4 Sechskantschrauben | 2 Satze (Schraubbolzen 1 Stiick +
10*30mm Sicherungsmutter 2 Stiick + Unterlegscheibe 2
Stiick)
5 O-Rohr 2
6 T-Rohr 1
7 Glatteisen 2
8 Verbindungsrohr 1
9 T-férmiger Griff 1
10 Ein Netz 1
11 Rabatt 2
12 B netto 1
13 C-Netz 2
14 Sechskantschrauben 12
6*15mm
15 Sechskantschrauben 12




4*10mm

16 Sechskantschrauben
8*45 mm

17 Haken

18 Schnalle







Montageanleitungen:

EINRICHTUNG 1.
Finden Sie anhand der Seriennummer das passende Zubehdr.

SETUP 2. SETUP 3.

Installieren Sie Teil 9 mit Teil 8. | Installieren Sie Teil 6 mit Teil 5 und Teil 7.

@x1 D =0 ®Ox & =0
EINRICHTUNG 4. SETUPS.
Installieren Sie Teil 8. Installieren Sie Teil 10 und Teil 13 mit Teil 11 .

@x12 «®




SETUP 6. Installieren Sie Teil 17, Teil 18 und Teil 12.

R,
m,o,o.o,u‘.t‘:\t:‘\:“\‘\
W

(SN
o‘o’o’o':‘:\s\s:\sf
SO
X
N

Sioud
““\\‘:‘\\“\\1
RN
XX
RSN
A
AR
Oy
KKK

SR,
o
Aoy
IR
REROKKXY
KRR
B
R
N,
N

R0
\ﬁ.‘ SO
XX S

% Soas
& “!&“8‘3“
&

J

3

SETUP 7.

Installieren Sie Teil 5, um die Installation abzuschlieRen.

@ x2 BosH=—0




Hersteller : Shanghaimuxinmuyeyouxiangongsi

Adresse: Shuangchenglu 803nong11hao1602A-1609shi, Baoshanqu,
Shanghai 200000 CN.

Nach AUS importiert: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australien

Importiert in die USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Ort, Rancho Cucamonga, CA 91730

EC REP E-CrossStu GmbH

Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
UK REP C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX




VEVOR

TOUGH TOOLS, HALF PRICE

Technisch Support und E-Garantie-Zertifikat
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technique Assistance et certificat de garantie électronique
www.vevor.com/support

EPANDEUR MANUEL DE L'UTILISATEUR

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Modéle : GT01

(:[%:\ Scannez le code pour regarder la
vidéo d'installation.

S5 X KKK IRI RIS TS
e sto oot toitensnrsnrchrstlol ot
XX KRR e K

2 .333.30.%:@.:.:.:.’.’&‘.’.0&0.0.w.ss*.v:a:&:.:..%}:»:o.».o.o.

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



AVIS : Veuillez conserver les instructions pour vos besoins futurs.

CARACTERISTIQUES
Modele GTO1
Taille du produit ( état ancien ) 670X410X1250mm
Couleur Vert
Composants
Partie Description Quantite
1 Boulons hexagonaux | 1 jeu (boulon a vis 1 piéce + écrou de blocage 1
8*40mm piéce)
2 Boulons hexagonaux | 1 jeu (boulon a vis 1 piéce + contre-écrou 1 piéce)
8*45mm
3 Boulons hexagonaux | 2 jeux (boulon a vis 1 piéce + contre-écrou 1 piéce)
8*35mm
4 Boulons hexagonaux | 2 jeux (boulon a vis 1 piece + contre-écrou 2 piéces
10*30mm + rondelle 2 piéces)
5 P-Tube 2
6 TubeenT 1
7 Fer plat 2
8 Tuyau de 1
raccordement
9 Poignée en forme de 1
T
dix Un filet 1
11 Disque 2
12 B net 1
13 C net 2
14 Boulons hexagonaux 12
6*15mm
15 Boulons hexagonaux 12




4*10mm

16 Boulons hexagonaux
8*45 mm

17 Crochet

18 Boucle







Instructions de montage:

CONFIGURATION 1.
Recherchez les accessoires correspondants en fonction du numéro de série.

CONFIGURATION 2. CONFIGURATION 3.
Installez la piece 9 avec la | Installez la piece 6 avec la piéce 5 et |la piéce 7.

piéce 8.

@x1 D = ®Ox & =0
CONFIGURATION 4. CONFIGURATIONS.
Installez la piéce 8. Installez la piéce 10 et la piéce 13 avec la piéce 11.




13

&

@x12

CONFIGURATION 6. Installez la piéce 17, la piéce 18 et la piéce 12.

[RXERITER I &
RREARKSKRTOSS
AT SIS
SN
PRI (]
AR RS
%00, BOOKXAIXAIKA Y
ARARRUIN, KX EREY
IR XX
R RRKLRIN LRSS
IR
PRI KSR
AR N A
TSR B
SRR A
KRR

AN
RS
»’o‘o‘o:o::::t::\s\“xtx\\“
AN
SIS
o

J

J

CONFIGURATION 7.

Installez la piéce 5 pour terminer l'installation.




@ x2 Bos=—0

Fabricant : Shanghaimuxinmuyeyouxiangongsi

Adresse : Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
Shanghai 200000 CN.

Importé en Australie : SIHAO PTY LTD. 1 ROKEVA STREETASTWOOD
NSW 2122 Australie

Importé aux Etats-Unis : Sanven Technology Ltd. Suite 250, 9166
Anaheim

Lieu, Rancho Cucamonga, CA 91730




EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Technique Assistance et certificat de garantie électronique
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technisch Ondersteuning en e-garantiecertificaat www.vevor.com/support

VERSPREIDER HANDLEIDING

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Model: GTO1

(:[%:\ Scan de code om de
installatievideo te bekijken.

XXX 0009, > KM
K SO ,:.;3

£ XX
XXX
XX AKX RIS
ot

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



LET OP : Bewaar de instructies voor toekomstige behoeften.

SPECIFICATIES
Model GTO1
Productgrootte ( gevouwen staat ) | 670X410X1250mm
Kleur Groente
Componenten
Deel Beschrijving Hoeveelheid
1 Zeskantbouten 1 set (schroefbout 1 st + borgmoer 1 st)
8*40mm
2 Zeskantbouten 1 set (schroefbout 1 st + borgmoer 1 st)
8*45mm
3 Zeskantbouten 2 sets (schroefbout 1 st + borgmoer 1 st)
8*35mm
4 Zeskantbouten 2 sets (schroefbout 1 st + borgmoer 2 st + sluitring 2
10*30mm stks)
5 Q-Buis 2
6 T-buis 1
7 Strijkijzer 2
8 Aansluitleiding 1
9 T-vormig handvat 1
10 Een net 1
11 Schijf 2
12 B netto 1
13 C netto 2
14 Zeskantbouten 12
6*15mm
15 Zeskantbouten 12
4*10mm
16 Zeskantbouten 8 * 45 1




mm

17

Haak

18

Gesp







Montage-instructies:

OPSTELLING 1.
Zoek de bijbehorende accessoires op basis van het serienummer.

OPSTELLING 2. OPSTELLING 3.
Monteer onderdeel 9 met | Installeer onderdeel 6 met onderdeel 5 en onderdeel 7.

onderdeel 8.

@x1 D = ®Ox & =0
OPSTELLING 4. INSTELLINGS.
Installeer het onderdeel 8. Monteer onderdeel 10 en onderdeel 13 met onderdeel
1.




13

&

@x12

INSTALLATIE 6. Installeer onderdeel 17, onderdeel 18 en onderdeel 12.

[RXERITER I &
RREARKSKRTOSS
AT SIS
SN
PRI (]
AR RS
%00, BOOKXAIXAIKA Y
ARARRUIN, KX EREY
IR XX
R RRKLRIN LRSS
IR
PRI KSR
AR N A
TSR B
SRR A
KRR

AN
RS
»’o‘o‘o:o::::t::\s\“xtx\\“
AN
SIS
o

J

J

OPSTELLING 7.

Installeer onderdeel 5 om de installatie te voltooien.




@ x2 Bos=—0

Fabrikant : Shanghaimuxinmuyeyouxiangongsi

Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA
STREETEASTWOOD NSW 2122 Australié

Geimporteerd in de VS: Sanven Technology Ltd. Suite 250, 9166
Anaheim

Plaats, Rancho Cucamonga, CA 91730




EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Technisch Ondersteuning en e-garantiecertificaat
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk Support och e-garanticertifikat www.vevor.com/support

SPRIDARE ANVANDARMANUAL

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Modell: GT01

(:[%:\ Skanna koden for att se
installationsvideon.

XXX 0009, > KM
K SO ,:.;3

£ XX
XXX
XX AKX RIS
ot

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



ANMARKNING : Spara instruktionerna fér framtida behov.

SPECIFIKATIONER

Modell

GTO1

Produktstorlek (F gammalt
tillstand )

670X410X 1250 mm

Farg Gron
Komponenter

Del Beskrivning Kvantitet

1 Insexbultar 8*40mm | 1 set (skruvbult 1st+lasmutter 1st)
2 Insexbultar 8*45mm | 1 set (skruvbult 1 st+lasmutter 1 st)
3 Insexbultar 8*35mm | 2 set (skruvbult 1 st+lasmutter 1 st)
4 Insexbultar 10*30mm | 2 set (skruvbult 1 st+lasmutter 2st+bricka 2 st)
5 R-Ror 2

6 T-ror 1

7 Plattjarn 2

8 Anslutningsrér 1

9 T-format handtag 1

10 Ett nat 1

11 Skiva 2

12 B nat 1

13 C néat 2

14 Insexbultar 6*15mm 12

15 Insexbultar 4*10mm 12

16 Sexkantsbultar 8 * 45 1

mm
17 Krok 2
18 Spanne 2







Monteringsanvisningar:

INSTALLNING 1.
Hitta motsvarande tillbehér enligt serienumret.

INSTALLNING 2. INSTALLNING 3.
Installera del 9 med del 8. Installera del 6 med del 5 och del 7.

@x1 D = ®Ox & =0
INSTALLNING 4. INSTALLNING 5.
Installera delen 8. Montera del 10 och del 13 med del 11 .




TR
’:’:’:‘:‘:‘:’:‘s‘:“‘s‘x\:{\\
RAEOAREA
et
\ ’o’o‘o’:’:‘:o':‘\“:\‘:\“:\'
ooono’.‘:t‘:»::‘:“\\s\:I
X
RN
mn‘.:‘::t::\:&s:\::\s
KRR
SO
o
0
A
W
S
XS]
BRI S
S
QN

A

J

485
D)
I
KIS
RARAR
AR

XA
R
RAKS

RS
XXXXBRXH

A%
OB
SRR
Qo SN N
S
SN
R X
RN
RIS

)
R

INSTALLNING 7.

Installera del 5 for att slutfora installationen.




@ x2 Bos=—0

Tillverkare : Shanghaimuxinmuyeyouxiangongsi

Adress: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australien

Importerad till USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730




EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk Support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Técnico Soporte y certificado de garantia electrénica www.vevor.com/support

ESPARCIDOR MANUAL DE USUARIO

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

®
VEVOR

TOUGH TOOLS, HALF PRICE

Modelo: GTO01

(:[%:\ Escanea el cédigo para ver el
video de instalacion.

XXX 0009, > KM
K SO ,:.;3

£ XX
XXX
XX AKX RIS
ot

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



AVISO : Conserve las instrucciones para futuras necesidades.

ESPECIFICACIONES
Modelo GTO1
Tamano del producto ( estado 670X410X1250mm
plegado )
Color Verde
Componentes
Parte Descripcion Cantidad
1 Pernos hexagonales | 1 juego (perno de tornillo 1 pieza + contratuerca 1
8*40 mm pieza)
2 Pernos hexagonales | 1 juego (perno de tornillo 1 pieza + contratuerca 1
8*45 mm pieza)
3 Pernos hexagonales | 2 juegos (perno de tornillo 1 pieza + contratuerca 1
8*35mm pieza)
4 Pernos hexagonales | 2 juegos (perno de tornillo 1 pieza + contratuerca 2
10*30mm piezas + arandela 2 piezas)
5 S-Tubo 2
6 tuboen T 1
7 plancha 2
8 tubo de conexién 1
9 mango en forma de T 1
10 Una red 1
11 Desct 2
12 red B 1
13 red C 2
14 Pernos hexagonales 12
6*15mm
15 Pernos hexagonales 12
4*10mm




dieciséis

Pernos hexagonales 8

*45 mm
17 Gancho
18 Hebilla







Instrucciones de montaje:

CONFIGURACION 1.

Encuentre los accesorios correspondientes segun el nimero de serie.

CONFIGURACION 2. CONFIGURACION 3.
Instale la pieza 9 con la pieza | Instale la pieza 6 con la pieza 5 y la pieza 7.
8.

@x1 D = ®Ox & =0
CONFIGURACION 4. CONFIGURACIONS.
Instale la pieza 8. Instale la pieza 10 y la pieza 13 con la pieza 11 .




TR
I‘Z‘.‘.‘.‘t‘&&‘:‘:“\\\\f
DA BRSNS
G S [Bmnssiy
RS KSR

R, ‘
S

BRTHRD S
Y ! '»‘3‘3‘&‘8‘}3“
AR, et
SR | (RO | | e

SN KRR
LS X %‘:‘t““:\s\‘g\‘]
AR || R
SRR X S
S S
RN
!
]
R

%
o,
R

RSN
AR

R

LR

\\‘\:‘

U

CONFIGURACION 7.
Instale la pieza 5 para completar la instalacion.




@ x2 Bos=—0

Fabricante : Shanghaimuxinmuyeyouxiangongsi

Direccion: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Importado a AUS: SIHAO PTY LTD. 1 ROKEVA STREET ASTWOOD
NSW 2122 Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Lugar, Rancho Cucamonga, CA 91730




EC

REP

UK

REP

E-CrossStu GmbH
Mainzer Landstr.69, 60329 Frankfurt am Main.

YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147, Centurion House,
London Road, Staines-upon-Thames, Surrey, TW18 4AX



VEVOR

TOUGH TOOLS, HALF PRICE

Técnico Certificado de soporte y garantia electrénica
www.vevor.com/support


https://www.vevor.com/support

